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As the OMR answer sheet is being machine‘ scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

magﬁaw%aﬁ&aﬁmwgﬁamagﬁammwmcmm)ﬁa’rmmmaﬁzﬁm
T T 97 o s miRe

Question Booklet Code (A/B/CID/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

Y U 1 3 & 5, 36 o & W YFT 3 3R e Ieelk & AT 0.33 wonens 3| AT W
# U G HEH Ieal FAd 3T AT A

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera { Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.
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Space available in the Question Booklet can be used for rough work.
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On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.
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Candidates will be permitted to leave the Examination Hall only after completion of the examination.
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After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card fo the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

3P 3T TEHIOT F WeAT N & WO AT SIeam, gl 3egaRt S ghawr & fov R 7 o
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The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates. '
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1.

g &l (des3) / TECHNICIAN — ‘B’ (WELDER)

afeder afdad |ia & Im3eye effTel &F dietsl, 919 goe Flod (AT SATGT §, Sfehe URT &0
il 5 Y6 &, el S §

Voltage at the output terminals of a welding power source when it is energized, but current is
not being drawn is known as?

(a) g?»?r-w drees / Open-current voltage

)] EDET—QﬁCIQT dleest / Open-circuit voltage

(9 3r3ETE-aRTY &FeST / Output-circuit voltage
() 3SiEOT dlecsl / Energizing voltage

=y

St TH T seog wigma AFT WA BT gTAATT FA ¢
GMAW process uses a ————————— power source.

() T=ad dlecst / Constant voltage

(®) @Id 9faer / Constant resistance
(¢©) Tgd 9T/ Constant current
@) 39dFd # § S FET / None of the above

TH TH UH U g #, dlie-go ¥ 9@t e ¥ el sdelE sHead: ——— & a9 @
ST ST B

In SMAW process, an electrode coated heavily with iron powder is commonly known as
() YUT deeal / Drag electrodes (b)  IRATE FAFEIZY / Drift electrodes
© YT gelFEIgd/ Dry electrodes (@ (a) 31 (b) AT/ Both (a) and (b)

sTdrdifeelT afessr &1 e aX dida i dfesT g g9 R weR T sarer &
YreaAer &1 STl 87

Which type of flame is preferred when welding of brass using Oxy-acetylene welding?
(a) 3FFAEROT TG / Oxidising flame

(b) HIFRELT FATAT / Reducing flame

(c) 3arilT arell / Neutral flame

(d) gBare / Hydrogen flame

3 760-TN(W)



GTAW wfrar & Bet # & fd drelt graar gl e 82
Which of the following is called as straight polarity in GTAW process?

(2) & A1 §dr/ DCEP . (b @SS/ DCEB
() wHr/ AC (d I & g/ DCEN

ey & ¥ wla-d)y afeser ultear aRers 39 &1 suher a8 =< 7
Which of the following welding process does not use a shielding gas?

(@) S & T sseT/ GTAW b S TH T Ssog/ GMAW
© TF T seRy/ SAW @ drusesy/ PAW
=T SATFEH 3 cueeT TRU s HT wikar ——— el ¥

Welding process without an electric arc generation is

(a) $ ot 3scg/ EBW _ (b) TH TH U e/ SMAW
(¢) farer dafessT/ Resistance welding (@) (a) 3R (c) @il / Both (2) and ()

A faorger Afeser & faw Bet # & Fla-ar @y 7eT 872
Which of the following is not true for Laser Beam Welding?

(a) a3 g @ F9 & fAv aRTers Ay v 3EeFehdr Bl § / Requires shielding gas to
protect weld pool

() T & AT vFa-Y TRIGIOT 1 3Tazgehdr gicl & / Requires X-ray shielding for safety
(c) 3afese & goT frgia §ar ¥ / Key hole is formed during welding

(@ S & T Seeq uihaAT & GeeT i HH FSAT YT §ar & / Has low heat input compared

to GTAW process
Ifzder ufeee fores vt &7 Teer 8 glar &, —————— & ¥
A welding process in which melting of material does not take place is
(2) it €1 T Seey / GTAW (b) TH U Ssey /SAW
(¢) ®¥oT 3TeET / Friction welding (d (a) AR (b) &t / Both (a) and (b)
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10.

11.

12,

13.

14.

e & O 9 oy & 3=9 adfiw =resar @idr 87
Which of the following materials has high thermal conductivity?

{a) UedfARUH / Aluminium . (o)  dm&/ Copper
(c) AT 400/ Monel 400 (d) TeANT TIA/ Stainless Steel

EICH &l IS &
Melting point of Tungsten is

(a) 3422K (b)  3422°F
(©) 8422°C (d 3422°R

<7

\/

39gerd des Siig # g BT B ——— B

The angle ‘B’ indicated in the above weld joint is

(@) ¥ VT / Groove angle (b)  &de ST / Bevel angle
() Slig T / Joint angle d A 1T / Root angle
T UH U § o) UF S A T V ———— § Hated B

ASME Boiler and pressure vessel code Section V deals with
(a) des AIAAT/ Weld qualification (b) T 3 & /NDT
(c) desT J9Tar/ Welder qualification (d) BIH § Hg 4T/ None of these

Afeger Faen & & g AR R § ?
What is PQR in welding qualification?
(@) wifafr Aewrar RFE / Procedure Qualification Record

(b) A Aewdr NFE / Program Qualification Record
(¢) FRIETHAT AT NHIS / Performance Qualification Record
(@ YURFEHE Mewar NS / Preliminary Qualification Record

760-TN(W)



15.

16.

17.

18.

19.

20.

e # § P ARFARE waew W a@ 87

Which of the following is not an austenitic stainless steel?

(a) AISI321 - (b)  AISI 304L

(c) AISI 202 (d) AISI 440C

ganfge For-aREEm W ————— & FAIOT & FROT Eell &
Sensitization is caused by precipitation of at grain boundaries.

(a) TSefAaA FTe1%s / Titanium carbide  (b) FITHTH FI15s / Chromium carbide
() Tafersia FE1ss / Silicon carbide (@ & (2) 3 (b)/ Both (a) and (b)

I ¥ O it Beurd ——— Bl

The physical principle behind brazing is e

(a) WI Gravity (b) 3BT/ Buoyancy

(¢ e fRaT/ Capillary action (@ RafauEge/ Viscosity
FET 37 ATeEw F, soweisd ———— ¥ & g1 &

In Carbon arc welding, electrode is made of

(a) <EIRTST/ Tungsten

(b) IWIST / Graphite
© TafRT A e / Coated mild steel
(d a@mﬁw / Aluminium

AR ¥ oloe e ATSSer 3% 1 TEEAR qe F FROT I FAeT T G fawror Eill
& T F AT AT |

The deflection of a welding arc from its normal path due to magnetic forces during welding is
known as

(a) 3% YT / Arc current (b) 3T st / Arc blow
(c) 3 dleea / Arc voltage (d) 3% Fes / Arclength

e F sia-ar el aderor A §?

Which of the following is not a non-destructive test method?
(2) YrEunnfee qliEfor / Radiographic Testing

(b) EfoH o 9B / Helium leak testing
(cy el 18707 / Tensile Testing
(d) qredriaes YEToT / Ultrasonic testing
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21.

22.

23.

24.

g O 3w afeder A, I} goles yareRs cffieer ¥ 5T § UF F HUNcA® cffee § 99T §
ar 9§ ———— ¥l

In DC arc welding, if electrode is connected to positive terminal and workpiece is connected to
negative terminal then it is

(a) YcF&T YN SXYcshdA YAl / Dirvect current reverse polarity

(b) WeueT YR GEl ¥adT / Direct current straight polarity
(c) YemeT Uy woATEdr §adr/ Direct current alternate polarity
() SFH T S T8l / None of these

sdF A 7§ @ g ————— B
Groove joint indicated in the above figure is

(2) fHerer V 9@ / Single V groove (b) BT V &/ Double V groove

() T sqa 9d / Single bevel groove (d 3§ d9a 7a / Double bevel groove

S & § seeg uiR F wEa AeEw o @ e & Fiwar e w16
Which of the following is not a part of welding torch used in GTAW process?

(&) Feige / Collet (b) §IH &Y /Bias cup
(c) I =TT / Gas Nozzle (@ 39 o/ Gaslens

T A8er & T [ § @ Si9-9T IYH0T HGTH Aal g7

Which of the following item is not required for visual inspection?
(a) YRISET WE / Ultrasonic probe () 3TaYe® T / Magnifying glass

(c) Telerese / Flashlight (d) AT 3YHRI0T/ Measuring devices
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26.

27.

28.

29.

30.

forell AT & @Y TR SUEOT AT AP B el F HT ARRAT BET I ©

Process of comparing an instrument or device with a standard is called :

(a) wofHa / Angulation . (b)  3i=MeT / Calibration
(¢) &fIoTeT / Attenuation (@) "M/ Correction

T g T § HI ¥ IEN, YEY S & fav aof Hs ————— §
The colour code for pure Tungsten electrode (EWF) as per ASME code is
(2) 0/ Green (b)y @Y/ Gold

(¢) <ol /Red (d H/Black

sﬁﬁvmmﬁ,msﬁa@ﬁg%ﬁéﬂﬁmﬁ@@mmmmmm

In GTAW process, which of the following angles of tungsten electrode tip will give the highest
depth of penetration? Assume all other welding parameters are kept constant.

(@ 15° tb)  60°
() 456° (@ 30°

;‘qum 35% RRaeT &7

What is 35% of 379?

1

i =
() (b) - |
(c) % (@ FAH A I 71gT / None of these
el wehifede dfesa & SN, o uEE & saen ¥ v g wiites 9w s &am|
In Oxy-acetylene welding, a greenish acetylene feather will be visible in ————— type of
flame.
(2) 3T@eoT/ Reducing (b)  3iferEior / Oxidising
(¢) @B / Hydrogen (@  3edid / Neutral
wwvmqﬁﬁmﬁ,aﬁ:ﬁ%mmﬁéﬁaﬁwmqﬁtﬁwm—ﬂmm
G

In SMAW process, the protective layer formed on the solidified weld metal after welding is
called as

(a) ¥TYeX/Spatter ®b) waEdE /Flux
() TI T IS /HAZ (d T /Slag

8 760-TN(W)



31

32.

33.

34.

35.

TeATATAIH & e —————— BT §

Melting temperature of Aluminium is

{a) 1500°C (b)  1150°C

() ©659°C (d 232:C

afed wliwan, ot o Coree gowRIS! & A R I G §

Welding process in which electric arc is formed between two tungsten electrodes?
(2) TAAGST 3% afeser / Submerged Arc welding

(b) &g HFFT 3 ATeSIT / Metal inert gas welding

(¢) e 37% dfesa / Carbon arc welding

(d) WRAFTGE gBalelel dfesd / Atomic hydrogen welding

S & T s it #, mmmﬁmgﬁmg,aﬁw—_@%mﬁﬂw@w%l
In GTAW process, arc initiation is difficult when ———————— is used as shielding gas.
(a) B / Nitrogen (b) BFFH / Helium
(¢) 3T / Argon (d) &= / Hydrogen
Weld /)efect
Weld
sRierer Y- F gear T A A &
The weld defect shown in the above sketch
(a) Tl T FAT / Lack of fusion (b)  TIYAT / Porosity
(¢) T/ Spatter (d) b T FAT / Lack of penetration

forer W 1 Afeger Afeh B wmerIe 8T § 3R Agat oreT 1 ST YaleT e §7
Which type of welding power source is advantageous and gives better quality welding?

(a) 3JfesT TrgweY / Welding transformer

(b) afese osedRT / Welding rectifiers

(¢) 3afesT FFeq / Welding generators

() IS sagEH / Welding inverters

9 760-TN(W)



36. m-mmmﬁ,mmmmmm@mémm

317.

38.

39.

ST 87

In Oxy-acetylene gas welding, carburizing flame is used for welding which material.

(@) &R EeT / Mild Steel (b) TARE/ Satellite

(c) Ul / Brass (d) Swal gl / Cast Iron
waéﬁmlxﬁw,mﬁwmmﬁmmm%,m#ﬁ
gREdsT gier &l

As per ASME section IX, WPS requalification is required if there is a change in
(a) afese gfhar / Welding process

o @t

(b) Yaar /Polarity
© (a) 3 (b) &= / Both (a) and (b)
@ AT H F5 40 / None of these

et F & Fia-ar RdEE g waow W€ 82
Which of the following is a Niobium stabilized stainless steel?

(a) AISI 304 (by AISI 321
(c) AISI 347 (d)  AISI304L

«—Tube

N +—Joint

N

T TH TH § SeR UF g 3R 3 I X ¥ 3eER, IwEd B # e afesw
e ——

Welding position indicated in the above figure as per ASME Boiler and pressure vessel code
Section IX is

@) 1G ®  5G
© 2G @ 6G

10 760-TN(W)



40.

41.

42.

43.

44,

el & Feal & e & sl v
Which of the following is true for Brazing?
(a) ST & 3MUR gere 1T ST B /.During brazing, base materials are melted

(b) s BRED ?-'ITC:IDBJT &FT ITAAF 450°C § FF grar & / Brazing filler metals have melting
point greater than 450°C

(¢) fofer T ﬂ@ﬁ & ITAATER 450°C T T 8T ¥/ Brazing filler metals have melting
point less than 450°C

(d oS F TF HT@S# I ITAIHAT FET ISAT g/ Brazing does not require filley metals

TFARIT FOT THETT BT YA ——— & 0T & v Rear o gewar B
Magnetic particle testing can be used to inspect? '

(2) HET TET I3 / Carbon steel structures

(b) @G Fr AR FAwer cenfees BERTT / Extruded plastic fittings

{c) mgaﬁzr oo I asiar degw / Non-magnetic Stainless steel piping welds
() FURF W&T g IR / Ceramic lined ball bearings

T & & A gy wlerer B & O @ oite g

The physical principle behind Penetrant testing method in NDT is
(@) gE-afald 3T/ Hydraulic action ()  IHOT / Suction
(¢) YTHEIUT / Osmosis (d)  fAFT =7/ Capillary action

WW$WW$Wmﬁ#WWMWW%?

Which of the following can be measured during tensile test of a material?

(@) % ErefEoT /% elongation (by IUHT WHZY [ Yield strength
(© (a) 3K (b) €=t / Both (a) and (b) (d) HOREAT / Hardness

41°F ———— & qAeT §
41°F is equivalent to

(@) 40.5°C (b)  41°C
(¢) 5°C (d  23°C

11 760-TN(W)



45.

46.

417.

48.

TH UH U Seoy gerdels STt E8526 H 2 3 3EI ST B
In SMAW electrode designation E8526 numeral 2 indicates

(a) eI 3aTYT / Welding positien (b) o THLA / Tensile strength

{¢) HRT FT YA / Current type (d) 3wz faaaed / Electrode coating
I des Feha e &

The above weld symbol indicates a

(a) Trelc des / Fillet weld (b) THarer 9da g / Single bevel joint
() Tt V Sig / Single Vjoint (d) =9 99 Sig / Double bevel joint
g gfFar 1 v & AT w7 Jov TFAT ST FEar €72

Magnesium can be welded using which process

() ORIFET o 31k ATPSeT / Shielded Metal Arc welding
®) afSsa 3% afeEer / Submerged arc welding

(¢) 9@ TIe 37 ATeET / Gas tungsten Arc Welding
(d) 9fa<ier 3fesaT / Resistance welding

[ +
5
3cm *
e T U @eeioT et §1 ogen X R S §

The above figure is a right angled triangle. The length of side X’ is

(a) bSem () 25cm
(©) 5mm (d) 25 mm

12 760-TN(W)



49.

50.

51.

52.

53.

S = BT HA FAT §7?
9 18 27
What is —+£+—1}—m‘? .
9 18 27

49 58
a —_— -
(2) ” (b) ”

47 53
¢ — d 29
(c} ) (@ ”

YAG g &7 wIIT e 7 & g afcEer wigranr & fRear smar 82

YAG is a term used in which of the following welding process
(2) =YoT TSS9 / Friction welding

(b) &Y aAfese / Laser welding

(c) SorErclsT %TUT—QD'SF 3fe5er / Blectron Beam Welding

(@) TAafaa 316 38 / Submerged Arc welding

fesslr <z T sar@ 301G & w7 A forar g3 {1 AT & A As o =T w@w ———
gram?
02

The diameter of a rod is mentioned as 3070 mm in a drawing. The minimum diameter of the
rod after machining shall be

(a) 29.97 mm (b) 29.7mm
{¢). 30.02 mm (d) 30.2mm

7 T FEH FAHT R §?

What is the approximate square root of 77

(a) 2.3 by 24
© 25 d 2.6
“tera” 3T Hr HF )

The prefix “tera” stands for

(a) 10° (b) 102
(c) 10°® (d 1012
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54.

55.

56.

57.

58.

59.

ﬁmﬁwmﬁwgaﬂﬁm%i

g symbol in an engineering drawing represents

(a) doleicd / cylindricity () =99« / flatness
(¢) HHEARAT / Parallelism (d) Hdg & L9 / Surface roughness
YTHIOT ¥ § &g % I A T ————— &l

Metal having hexagonally closed pack structure is

(a) gl / Iron _ (b)  T¥her / Nickel
(¢ wegAfAEa / Aluminium @) s?lﬁ By ﬁ'é""?r‘l'eﬁ' { None of these

THT & O faegd AW & war w1 e 7 @ Hl-ar A 52

Which of the following is a measure of the flow of electric charge over time?

(a) wfFd / Power (b) dieeat / Voltage

(@) Fr / Energy (@) &R/ Current

ofg Rl &t &1 ue e 4 G E, ar saeT S T aRTer Far geire
If one side of a square is 4 cm, then what will be its area and perimeter?

(a) 16m?2, 16m d) 16cm?2, 16cm
(¢) 8em?, 16cm (d) None of the above

AIIHT T TF 3S FAEE FI7 87

What is the SI unit of temperature?

(a) °C ® K

{(¢) °F (d) B’q'{-i??‘f g3t / All of the above

yafe gfaed Td R # afed F gRa wF far o7 T &

Residual stress and distortion can be minimized during welding by
(a) afese MY / Welding fixtures (b) qﬁ-mu?r | Pre-heating

(&) FCAT e / Heat sink (d) STRFDW AT / All of the above
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60.

61.

62,

63.

64.

dierer SfvareI & Fo 3 & T araae B

Which of the following is/are the components of a brass alloy?
(a) 9raeT, €T, SEar/ Brass, Copper, Zinc

(b) Hael diar/ Copper only

(c) had SEAT/ Zine only

(d) dofer 3R SEar g/ Both Copper and Zine

T UH UH § IR IX ¥ 3R, AR waow e fT P ger 4 87
As per ASME Section IX what is the P number for Austenitic stainless steel

(a) P Number 3 () P Number8 -w
(©) P Number 4 (d P Number?7

forely gHenIoT Feget #, Al o3 (FUT 1 SlgY) & AT 1 ¥l dF iR Hor §

In a right triangle, the ratio of the two sides (other than hypotenuse) is 1. Then included angle
is :

(a) 60°
() 46°
() 30
(@) 3‘3@@ H & 35 7181 / None of the above

& FROT 365 IR 30T B B
Weld defect undercut is caused due to :
(a) 3=T 97/ High current (b) 3T geest/ High Voltage
(¢) 3T IHF 49 / High travel speed (d) 3"517‘1‘!33'?{ |HT / All of the above

afeser gfthan, fowe 3mh e & ) dgfaa § aik < wee: aa-dafea §

Welding process in which arc is constricted within torch and torch is generally water cooled.
(a) T I HE ATCET/ Gas Tungsten Arc Welding

(b) AT 3% ST / Submerged arc welding

(¢) ST fRUT-qsT 9fe5r / Electron beam welding

(d) vOllGHT 3% dTeseT / Plasma Arc welding
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65.

66.

67.

68.

69.

et yoaradt arr oy &, afFT S 39eT Hdel F grer B!

In an AC circuit, power is consumed only in
(a) TENRA/ Capacitor . () W& /Inductor
(c) 37T / Resistor (@ 3TFT A F FS A4/ None of the above

el wE T Beed 1.63 U U Heidie] §1 39 vard % 0.25 SeT F geuHe fhaar §7

The density of a substance is 1.63 grams per milliliter. What is the mass of 0.25 liters of the
substance?

(2) 0.4075 &I/ kg

(b) 40.7590/g
(¢) 407.5 4T/ mg ' o
(d) Eq?ﬁa?ﬂ # & IS F&T/ None of the above :

yfaae-RE o & Sh-ar or 9ol H FORAT T T 52
Which property in Stress Strain curve gives the stiffness of the material?
@ & & 9 / Hookes law

(b) TR J[oTieh / Modulus of Elasticity
(¢) wITGel 3T / Poisons ratio

(d) wuHT ﬁﬂﬁ/ Yield point

FeaT 3TAR GRFT, T o TRe B S § 3R fie 8¢ R S ©
Heat treatment process in which metals are heated and cooled slowly

(2) TS HORENOT/ Age hardening

(b) 9= FSAT 3R/ Solution heat treatment

() "ﬁ'TqTﬂQﬁﬁ?f { Annealing

(d) <=d HET / Quenching

FHa T GiT O 310X w7 F R ar des S AT !

Weld joint inspection carried out in dark room with black light source is
(a) ©FAY/X-ray

(b) e fA%ERTOT / Ultrasonic inspection

(© 9wiaditg due @0eToT / Fluorescent penetrant inspection

(d) 3T JuF U&7/ Liquid penetrant inspection
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T1.

72.

73.

74.

40 Torar gegane i RRl 9% T AN AT §? (W%ed F FHROT @wor =10 Fgee/fRem
What is the weight of an object with mass 40 kg (acceleration due to gravity = 10 N/kg)?
(a) 40kg - () 4N
(c) 400N (@) 39dwd # { IS 787/ None of the above
afeger uftear o freey X &1 39T /4T R aar &
Welding process in which filler wire is not used
(a) FAFY 35T/ Homogeneous welding
() 3T AfTET / Autogenous welding
() fawART ATFET / Heterogeneous welding )
(d) 9RRET &g 3% AfeSaT/ Shielded metal arc welding )
250 TIPTW @ 70% 3gfe wsfhe o1 afese afea dia R R afesTr s #
TRTH B
Welding power source of 250 amps @ 70% duty cycle is capable of welding continuously at
(a) 10 TA=ic & Tow 250 UIFTUI/ 250 amps for 10 minutes
() 3 fAse & T 250 TiRITT/ 250 amps for 3 minutes
() 7 TAac & T&T 250 TPIUY/ 250 amps for 7 minutes
{d) B"Qéaﬂ q7a EFTé’ &1 / None of above
et F T T A BT Tl
The value of absolute zero is
(a) —273.15°F (b) —273.15°C
() 273.15%K (dy 0°C

T RS § IeEd 2 vz # yaia @

flows from a hotter body to a colder body.
(a) @A Fair/ Temperature energy
(b) EF T/ Pressure energy
(c) AT Fall / Heat energy
(d) 39gFT F § HI$ 7L/ None of the above
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75,

76.

77.

78.

79.

80.

U AR AT P do8 FReT FooT @l B
Aluminum alloy is difficult to weld due to

(@) YRl & Fag & 3RNEROT/ Oxidation of material surface
(b) oI FgET H f@’;\rﬂ?ﬂ Ei?fﬁ/ Porous nature in liquid state
(© uerd & A 9reresdar/ Thermal conductivity of material
(@ 3T |/ All of the above

21 AT I & Ty e 1 sree feaer 22

What is the volume of a sphere of diameter 21 units?

(a) 4951 units (b) 5964 units
(¢) 1588 units (d) 4851 units™
31\;]3@#(‘%1”%@3 afeder & Eir:] qaﬁa gidr %:|

The gases used for Oxyacetylene welding are

(a) CH:& Q2 ®) CoHz& Oo
¢} CaH & Oq (d CH&O-:

Rage 55t @ Sw1 Soft 3 R ot o 4@, af o T 8, SRRE R Lawa v ¥ i
alees V' §

Formulae for converting electrical energy to heat energy if T is current, ‘R’ is resistance, ¢’ is
time and V’ is voltage.

(a) IRt? (by IRV
{c) IPRV (d) IRt
wfatrersrar &1 mmEw ¥
18 a unit of resistivity.
(@ Q.m (b) uQ.em
© nQ.mm (d) B'Q?gﬁ-'?r FaT / All the above

afeger $r e, Fores, ol wHae § 450 W Frea @ smer & 3 douw @1 A & Byo
IRT 3T GHAT e §

Welding position in which job is fixed at 45° to the plane and welder has to move around for
welding

(a) 5G by 2G

¢y 6G @b 1G
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